1/N,, dN,/dN_./dn do

Ratio to ATLAS

=
IN

=
N

[ —

o
o)

0.5

13000 GeV

PR
A I S I N B

I L I L L B IO I
Nch (ATLAS UE in Z production)

ATLAS
Pythia 6.428 345

|
--0--

—4A— Pythia 6.428 370
Pythia 6.428 ambtl
—— Pythia 6.428 z2

O.
~

I T T T

2

ol
HE

R
v A
A "w’é‘vva A_AA A A A
A e é \ ’A,..\ )
() ¢ B iy O\AO‘A X W& ]
- = N /XZ\D
’ ‘ A} (\ X A\
| / Y B39 A A —
|4 ™, J - 4
B [+ G- X A ]
@ \} O--@7 R
— A p—
XN
N\
D
- N A ]
P I S SR SO EU S S SR SR S S SR SR TR R SR LN

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


